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01 A& HI 222,950 204,790 18,160
o ZHEZ 2 A2F WA 174,750
- JIel X+ OtSot=XelAld ZHl
15,000,000 = 1002 15,000
- =X+ OtSct=HelAld ZHl
3,750,000& = 1JH A 3,750
- ¥R X7 OtSot+=HelAld El
5,250,000& * 1004 5,250
- NEX 7 0tSot=HelAld El
5,250,000& * 1JH A 5,250
- g4 X7 OtSct=xelAld ZHl
4,500,000 * 102 4,500
- ZEX 7 OtSct=XelAld ZHl
5,250,000& * 1JH A 5,250
- MEXF OtSct=Xel A4 ZHl
6,000,000& = 1JH A 6,000
- 28X 7 OtSct=XelAld ZH
11,250,000 = 1002 11,250
- 8% X7 OtSct=xelAld ZHl
3,750,000& * 1JH A 3,750
- 25X 0tSot=HMelAld El
3,750,000& * 1JH A 3,750
- MEXN P OtSot=XelAld ZHl
3,750,000& * 1004 3,750
- DA EX P OFSot=XHelAlE &EHl
3,750,000& * 1JH A 3,750
- ZEX 7 0tSots=HelAld El
4,500,000& * 1 4,500
- #4&X 7 OtScts=XelAld ZHl
3,750,000& * 1JH A 3,750
- SEEMX T OtSote=XelAlE FHl
3,750,000& * 1JH A 3,750
- dAsgsX7 0tSot=XHelAlE &El
5,250,000& = 1JH A 5,250
- AEHOX P OFSot==XHMclAlE &l
4,500,000& * 10H2 4,500
- 349X+ OrSct==XelAld ZHl
2,250,000& * 1JH A 2,250
- S& X7 OtScot=XelAld ZHl
3,000,000& = 1JH A 3,000
- SEX7 0ISotHelAld FHI
3,750,000& * 1JH A 3,750

- 569 -




2N
X ZH -
L= B

el

o DiSot=XelAld SeaelAAag FH

OtSct=HMelAld =2 XAl

™ 0
5

=

x

0

OtSct=HMelAld SRRE=

&K OtSot=X2lAlE FH
4,500,000 = 10H=2
ot=XclAlE &l
3,750,000& = 104z
ot=XclAlE &
4,500,000 = 10H=2
ot=XclAlE EHl
5,250,000& = 10
St=XcelAld |
3,750,000 = 102
St=XcelAld |
3,000,000& = 10H=
St=XeclAld |
4,500,000& * 10HA
ot=XclAlE &
3,000,000& = 1004
gdX+ OtSot=XxclAl2 FHl
3,000,000& = 1JH A
Jtel2XI = DiSat=H™elAld &l
6,000,000& » 104z
St=XclAld |
3,750,000& = 10
St=XclAld |
3,000,000& = 1004
St=XeclAld |
3,750,000& * 1004
St=XeclAld |
3,750,000& * 1004
St=XclAle Hl
2,250,000& * 1004
SotX+ OtSct=XelAle Fil
3,000,000& = 1004
SE(FE2)XF OtSdt=HM2l A& Fl
3,000,000& * 1004
SO0IX 7 OrSct=HMelAle Eil
3,000,000& = 1004
HE(SL)XF OtSct==HelAld F
3,000,000& * 1004
HE(Z22)X 7 OtSot=HelAld FHl
3,000,000& = 1004

SEIPNEI

o

g&X+ 0

o

S3atA = Ot

o

o

ALK R OF

SN2 ot

o

Q&K+ Ot

o

S XX = Ot

o

AZX T 0O

o

NS+ 0

o

E XS O

o

Al X7 O

o

o

EEX 2 0

2,000,000& = 7004

29,0003 = 20& » 400H

Sot=HMelAE JzdHE8A (S 2)
|

t
a| 11,000,000 = 1004

Sl

200,000& * 2000 A&

4,500

3,750

4,500

5,250

3,750

3,000

4,500

3,000

3,000

6,000

3,750

3,000

3,750

3,750

2,250

3,000

3,000

3,000

3,000

3,000

14,000

23,200

11,000
4,000

4,000
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AR R e P = R
B slas 22
Sl BT U Q& el (el @)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
ot== RA2cl At 213,483 129,701 83,782
101 @124 H] 1,701 1,615 86
04 DIt Z22XsE+ 1,701 1,615 86
o A2 ¥ WE MEAH(9.7km) AL
5,000 * 6% » 6 1,620
o A28 g 1,620,000& * 5% 81
201 2Bt2 Yl 11,436 11,136 300
01 AtR 22l | 4,641 4,641 0
< L=dl > 0
o Hgs 2¢ 80,0008 = 5 = 13 400
o SEIXYS Y 85,000& = 5& * 13 425
o Hgst (s, FHa)
45,000 = 5% * 13 225
< SEHl > 0
o oted&tH K22 =N
7,0008 * 3 » 171 3,591
02 3224l 6,795 6,495 300
<SS2SHHA > 0
o ot===g32ltl 1,900,000 * 13 1,900
© Ot HAIE AESSHEZY HE3HE
35,670% * 104 + 12E 429
o Ot HAIE BESHEZY HEIHE
35,6703 * 10HA « 128 429
o Ot HAE AESHEZY MIIR2= 2,904
-JlEz 4,6108 * 13kw * 12 720
- ANEZ 702 * 2,600kw » 12 2,184
o St HAE BESHEZY HJIR= 395
-J=Z2 4,610& * 5kw » 123 277
- MNEZ 702 * 140kw = 12 118
o ot HAE FASHEZY HIIRs 395
-JlEz 4,610& = Skw » 12 277
- AER 702 x 140kw » 128 118
o MEZH INEFEH LS 132
-Jl=Zz 3803 » 25kw » 12& 114
- ANEZ 57 * 25kw = 123 18
o IEEH LKA HIILS 211
-JlEz 380& * 40kw » 128 183
- MNEZ 573 » 40kw » 123 28
401 AIEBIL 2 CHEI 200,346 116,950 83,396
01 A€ Hl 193,346 109,950 83,396
o StEZFmI 2 A 193,346
-ot=EEE 150,000& = 333m 49,950
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M 2SI EL
HE: 54c 2el
Sl BT U QM e CERED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
- otk HESZAES 250,0008 * 40002 10,000
- =50t & 4l (L=150m)
20,000,000& * 54 A& 100,000
St=201 Jl=& 2l (L=10km)
3,036,000& = 10km * 1.1 33,396
03 Al 2 THHI 7,000 7,000 0
o olx% A BI(2AI|, €28) ¢
= 500,000& = 10 5,000
o ot== FXl2el AIZR0H|
400,000& * 5JH A& 2,000
St AEE RBUE =S 26,140 16,540 9,600
201 Let24d] 16,984 7,384 9,600
01 At 22l 11,944 2,344 9,600
< YEt=2Hl > 0
o StxER=s FRESA E DM F
66,0003 = 3=t + 3F 594
o 54523 HF2E 7Y
503 * 1,400 = 123 840
o ot M4 Z20Y S
800,000& = 123 9,600
< S EHl > 0
o ot AMEE REFA
7,000& * 2H * 65 910
02 2324l 5,040 5,040 0
<SS ZAHAM > 0
o St+ERSIDVAALS
300& = 1,400A4 » 128 5,040
202 Odl 3,840 3,840 0
01 = LH 4 Hi 3,840 3,840 0
o St=EZMNEE ERFH
20,0003 = 3Y » p4Y 3,840
401 AIEHI L 201 5,316 5,316 0
01 A& tl 5,316 5,316 0
o olxE MEERN AMZASFI EX L B 5,316
- FANE=> 62,900 » 4004 & 2,516
- 4R & 140,000& * 200H & 2,800
A2 FU=RAY 170,000 237,000 A 67,000
401 Al HIZ 201 I 170,000 237,000 A 67,000
01 A& HI 170,000 237,000 A 67,000
o HHg JHEOIME =Y ot HHUIZAH(L=
100m) 20,000,000& * 1JH A 20,000
o gH W20t2 st=% FHI 3 AHL=300m)
20,000,000& * 10024 20,000
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FA: H222elAtg A
HE: 54c 2el
Sl BT U QM e CERED
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
o ¥ ER0tS ot== HHISAH(L=100m)
10,000,000& * 1JH A 10,000
o g EAHOS ot== HHISAH(L=80m)
15,000,000& * 1JH A 15,000
o S #wotE k=% &4l 3 AH(L=200m)
35,000,000& * 10424 35,000
o ANHMH SHOZ2 =% FHI3AH(L=100m)
30,000,000& * 17424 30,000
o S0/ dFotss 22 otx=S FHUIBAHL=5
Om) 10,000,000& * 10§ A& 10,000
o S0/H Aot dt2=% & HI3 AH(L=250m)
30,000,000& * 10424 30,000
ot=2tH & ot=3S2XHeldE & 19,885,000 13,546,000 6,339,000
= 15,997,000
fia 3,888,000
g 32 EFA=2AZHI 10,325,000 7,712,000 2,613,000
= 9,095,000
s 1,230,000
401 Al I 28I 10,325,000 7,712,000 2,613,000
= 9,095,000
s 1,230,000
01 A& HI 9,759,000 7,392,000 2,367,000
o BHES FHH2ARY FHEBAHBYIAL
9,759,000,000& * 1JH A 9,759,000
= 8,600,000
s 1,159,000
02 Zeltl 550,000 300,000 250,000
o HHS Y TY FHLBAHIHIAY 22
i 550,000, 000& 550,000
= 495,000
s 55,000
3 A& S 16,000 20,000 A 4,000
o BHS YHHATY A+BABUIAY =204
]l 16,000,000& 16,000
el 2E 2F[A ote=2) ZFHAY 7,381,000 5,120,000 2,261,000
= 5,377,000
s 2,004,000
401 Al& I 28I 7,381,000 5,120,000 2,261,000
= 5,377,000
s 2,004,000
01 A& HI 7,066,000 4,807,000 2,259,000
o 8 HMel7G ot&) FHAY
7,066,000,000& » 10H A 7,066,000
= 5,167,000
s 1,899,000
02 Zeltl 300,000 300,000 0
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2N
X ZH -
L= B

el

= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
o ¥ XMcdl+S ofx=2H FJHIAY Zcldl
300,000,000& 300,000
=2 210,000
s 90,000
03 Al £ HHI 15,000 13,000 2,000
o #¥ XMcdl+S otx=2H JHIAY FUY
15,000,000& 15,000
Fatxel 7S ote20 HIAE 2,179,000 714,000 1,465,000
2 1,525,000
s 654,000
401 AIEHIZ 2 CHYI 2,179,000 714,000 1,465,000
2 1,525,000
s 654,000
01 AlZHI 1,973,000 609,000 1,364,000
o &R F ot FHIAL
1,973,000,000& = 1JH 2 1,973,000
= 1,385,000
= 588,000
02 Zeldl 200,000 100,000 100,000
o BATTD G FUIAY 22t
200,000,000& 200,000
= 140,000
s 60,000
03 Al £ CHHI 6,000 5,000 1,000
o FOX T ot=2H FBIAE 20HI
6,000, 000& 6,000
212 3ot FHIAE 4,618,800 3,671,000 947,800
= 3,156,000
= 1,462,800
Ol X = ARRot=E HUIAEY 933,000 0 933,000
= 653,000
= 280,000
401 AIEHIZ SR CHYI 933,000 0 933,000
= 653,000
= 280,000
01 Al £ HI 828,000 0 828,000
o 0lgX+F AR25t=E FHIAY
828,000,000& * 1JH A 828,000
= 583,000
s 245,000
02 Zeldl 100,000 0 100,000
o OlA+ A7206t+5 HAE Zlbl
100,000,000& 100,000
= 70,000
s 30,000
03 Al 2 CHHI 5,000 0 5,000
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EA: HS2H2AEL
HE: 54c 2el
e AR BEolx=% HHIAE (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o 0|YXNFPF AFE3=E HHALY 20UG]
5,000,000 5,000
H2AX P AALOIEE EH ALY 109,800 0 109,800
401 AlEHIZL 2 0HY| 109,800 0 109,800
01 Al&H| 109,800 0 109,800
o XNEAXP ARFRZoET EHAY AAEHE
=) 109,800,000 = 1JH A 109,800
SR ARRPoleE EUHAIY 1,590,000 0 1,590,000
2 1,113,000
= 477,000
401 AIEHIZ 201 Y| 1,590,000 0 1,590,000
2 1,113,000
= 477,000
01 A& H| 1,485,000 0 1,485,000
o YOHXP ARDoIEE FHAY
1,485,000,000& = 1JH A 1,485,000
= 1,043,000
= 442,000
02 2teld| 100,000 0 100,000
o HYHIXFP ARI2olx=E HHAE 224l
100,000, 000& 100,000
2 70,000
= 30,000
03 AlE 21| 5,000 0 5,000
o HEXR ARDESE FHAY S
5,000,000 5,000
BHH X ARBPole=S EHAY 1,986,000 714,000 1,272,000
= 1,390,000
= 596,000
401 AIEHIZL 201 Y| 1,986,000 714,000 1,272,000
= 1,390,000
= 596,000
01 Al&H| 1,781,126 609,000 1,172,126
o BHOtT| R ARDPotSESE FHAY
1,781,126,000& = 1J0 A 1,781,126
= 1,250,000
= 531,126
02 2teld| 200,000 100,000 100,000
o BHOIX| P ARIPol=E HHIAIE 2Z2ld]
200,000,000 200,000
2 140,000
= 60,000
03 AlE 21| 4,874 5,000 N 126
o BHOIX| P ARIPolEE HHIAE 204
4,874,000 4,874
AT 22 5,054,685 11,516,244 NB6,461,559

- 575 -




M 2SI EL
B gas B2
el a2 (el &)
SA - BB B () - MM - BES Ol &t o San HmEET
Xl 2,224,000
< 248,400
e 2,582,285
AT a2 5,054,685 11,516,244 26,461,559
Xl 2,224,000
< 248,400
i 2,582,285
SHE Aga=E &X 2,770,586 8,476,190 25,705,604
Xl 1,932,000
= 248,400
e 590, 186
201 L2l 5,586 5,670 N84
01 At 22l 5,586 5,670 N84
< =gl > 0
o MAT ASEX 7,008 * 7 + 114 5,586
202 O4dl 5,000 5,520 A 520
01 = LH 4 1l 5,000 5,520 A 520
o Mk JE2gRFA
20,0003 = 5% = 50 5,000
401 Al&HI & 28I 2,760,000 8,465,000 25,705,000
X 1,932,000
< 248,400
[ia 579,600
01 A& HI 2,755,000 8,449,000 25,694,000
o SHEMESRA NHL(HAD)
340,714,000& * 1JH 24 340,714
Xl 242,000
< 31,114
= 67,600
o SHEMEES> HLAH(S5HH)
1,700,000,000& * 1JH A 1,700,000
Xl 1,190,000
< 153,000
e 357,000
o SOEMERL HLAYA(S00)
714,286,000& » 1004 714,286
Xl 500,000
< 64,286
e 150,000
03 A& S THHI 5,000 16,000 211,000
o SHEYUEST HEAEY
5,000,000& * 14 5,000
o AE SEAY 1,691,832 845,000 846,832
401 Al I 28I 1,691,832 845,000 846,832
01 A& HI 1,687,500 840,000 847,500
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EA: HS2H2AEL
HE: M44E el
el a2 (el &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o FH= 442y 58 =gddNLY 25
1,000,000, 000 = 14! 1,000,000
o HEH 2222 (4HH)
50,000,000& = 10JH0t= 500,000
o DISA+E BN THEMN BHHNY
) 50,000,000& * 20K 100,000
o AL Z AEEEZA 87,500& * 1,000m 87,500
03 Al&E 201 Y| 4,332 5,000 A\ 668
o MATAE HFAMY =X
687,500,000& * 0.63% 4,332
AR =T AE A 417,143 910,000 N492, 857
Xl 292,000
= 125,143
401 Al HIZL 2 THHI 417,143 910,000 ~492 857
Xl 292,000
iy 125,143
01 Al & H| 415,143 905,000 N 489,857
o ARBDPLETAIE ALY
207,571,500& = 200 A& 415,143
Xl 292,000
= 123,143
03 Al 201 Y| 2,000 5,000 A 3,000
o ARBEEAE MHEAY =& 2,000,000 2,000
sass =822 69,554 69,554 0
201 Bt 65,434 65,434 0
01 AP 22| H| 65,434 65,434 0
< 2BtEEH| > 0
o (IS4l 2N EEE 51,084
- 13&tS HAH 56,500& = 1084 x 33 18,306
- 57&t=s HAF 303,500 * 1084 = 13| 32,778
o (ISat AL FEHA =2
250,000 * 520HA + 13| 13,000
o =528 ZBEEIAN &2t 4502 = 3,0000H 1,350
206 M = H| 4,120 4,120 0
01 X2 H| 4,120 4,120 0
o lisi&sr 4EFP 4,120
- AEXE 4,000& * 1,000kg 4,000
- MFAHAL HAPAI S 10,000 * 124 120
Olsats=% AIAINA 105,570 155,500 AN 49,930
401 AlEHIZL 2 0HY| 105,570 155,500 A 49,930
01 Al&EH| 105,570 155,500 AN 49,930
o (Ig&d+E =T2H P2
,500,000€ * 20 A 7,000
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2N
X ZH -
L= B

el

= _ — d =
HH - B (3H) - KA - BYS 0l &t o e 2
OrE2a=5 =Xl ZAANLE 2=
3,300,000& = 5JH A 16,500
DIS&4+E NS 24
2,000,000& * 1500 A& 30,000
OIS 445 H+Z(293) HA
443,000& * 904 & 39,870
He=2 SSAME(2A=H) FAE=22]
1,250,000& = 404 A 5,000
HBaHelAld sXzel(2H,A501)
2,400,000& = 30H A 7,200
e gesaA2AEL) 100,849 81,399 19,450
48,714 32,001 16,713
| 48,714 32,001 16,713
jellal=] 48,714 32,001 16,713
&= 48,714 32,001 16,713
ag > 0
N2 RE
9,226 * 22% * 20AI2+ « 128 48,714
52,135 49,398 2,737
52,135 49,398 2,737
gr2 &l 47,055 45,798 1,257
fzeldl 38,600 37,094 1,506
Y Bh=ZHl > 0
MY 23 ABF £ 25,0003 * 408 1,000
A=A BE 2 1,796
Y 2 MUARE 300,000& = 23l 600
g4 598,000& * 23 1,196
diol =l & 250,0008 * 6CH * 23 3,000
WMAEH 118,000& = 104 = 23l 236
Mg 2 700% = 300H = 12& 252
SEANEX 7L 25,0003 » 6=t « 123 1,800
HY=SE 7 150& = 3,0000H 450
ME2RES 5,256
S2X 18,000& * 6% = 12& 1,296
RN 15,0008 » 222 » 12& 3,960
9xNE AT U IEEE
90,000& = 2& « 23| 360
o JIEEE Y&l 250& = 10004 = 123 300
o XEEHINIHBA =+=3 50,0008 * 22| * 2CH 200
<2g+g > 0
o YA G 50,000 * 19 * 479 23,950
02 =24l 8,455 8,704 A 249
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2AN: HSS2A2AMEL
. HNSHBH (A2 A2AIHA)
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
<BS3SRSLAA > 0
o B XMeAE HEEIE(HIIHA) AE2
45,0003 * 23| * 12& 1,080
o AYYSE 23 34,800& * 128 418
o AMolEE AIEE 880& * 50E x 12& 528
o RERZ 260
- duteH 300& * 4024 = 128 144
- SJ|H 1,930 * 524 = 12& 116
o EANERE 2 40,0008 * 23] 80
< XHEH|] > 0
o I (HAX, GQEZT) KFHI
1,635.44& = 2,5004 4,089
o I (HAZX, HEZ) K22
1,000,000& = 2CH 2,000
203 & R =&H| 5,080 3,600 1,480
02 M3t R =AH| 880 600 280
o A& APJ|I& A AHH| 40,0003 * 22Y 880
04 ENSIHRE=Y| 4,200 3,000 1,200
o 302 0| 3dt 350,000& = 12& 4,200
MEES(HSs22AIEN) 72,589 72,589 0
= 42,000
= 30,589
WEHAN XK= 30,589 30,589 0
WHEAHHX = 30,589 30,589 0
701 JIEIS HSHES 30,589 30,589 0
01 JIEtSH N E= 30,589 30,589 0
o ML EYEINH MEZ 30,588,580& 30,589
EEE 42,000 42,000 0
= 42,000
ot XMl ALY BAS4aE 42,000 42,000 0
= 42,000
311 Xt 20| XH& &t 7,200 7,200 0
= 7,200
05 JIEFXHY 20| Xt 4+E 7,200 7,200 0
o olEdXKA2IAISY SX2 0l XHAHE
7,200,000 7,200
= 7,200
601 Xt S A3 A& 34,800 34,800 0
= 34,800
05 JIEF=2UW X 22 A 34,800 34,800 0
o olxEdXKeIAE S22 =4E
8,700,000& * 42| 34,800
= 34,800




